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Please check whether you have got the right question paper.
N.B: 1. All question are compulsory.
2. Figures to the right indicate full marks.
3. Students answering in the regional language should refer in case of
doubt to the main text of the paper in English.

A. Choose the correct alternative. (any 8) 08
1) Majority of the tribals are engaged in sector.

(Agriculture / Industrial / Service / Aristocrafts)

2) The followers of follow the preaching of Lord Mahavira.

(Sikhism / Jainism / Islam / Christian)

3) The major cause of declining sex ratio is

(Poverty / Pollution / Smoking / Disaster)

4) refers to the process that divides the society into layers.

(Social Stratification / Economic Stratification / Religious Stratification /
Cultural Stratification)

5) refers to loyalty of people to a particular area within a state of country,
usually characterized by common culture and language or historical and social
background.

(Regionalism / Secularism / Casteism / Linguism)

6) The Border dispute is a dispute involving the Indian States of
Karnataka and Maharashtra.

(Belgaum / Sangli / Pune / Mumbai)

7) is worship of material things like leaf feather, horn, stone and so on.
(Animism / Fetistism / Tetemism / Pitamber)

8) Is a defect due to extra chromosome.

(Cretinison / Microcephalus / Down’s Synchome / Galactocymia)

9) Anti-Hindi agititions took place in India.

(Northern / Southern / Western / Belgaum)

10) refers to the attachment towards one’s own region.
(Communalism / Casteism / Regionalism / Capitalism)

B) Write True or False (any 7) 07
1) In India, the states are formed mostly on the basis of language.

2) Shwetambar and Pitamber are the two sects of Jainism.

3) In many developing regions, women experince high levels of mortality.

4) Mental disability occurs due to brain injury.

5) India is a capitalism nation.

6) Caste system acted as barriers in social progress of modernization.

7) Communalism is opposed to secularism.

8) The problem of dowry system is one of the causes of declining gender ratio.

9) India has no official religion.
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10) Madhya Pradesh has high life expectancy for females as compared to males.

a) Explain the cause and effect of voilence against women in India.
OR
b) Discuss the socio economic problem of women in India. Suggest
constitutional measures to their problem.
a) Write a detailed note on linguistic conflicts.
OR
b) What are the inequalities caused by caste sytem in India. Suggest
constitutional remedy.
a) Discuss the pluralistic nature of Indian society.
OR
b) Examine the types of physical disabilities.
a) Explain the causes and consequences of communalism.
OR
b) Write short notes. (any 3)
1) Tribal characteristics
2) Characteristic of urban areas
3) Mentally handicapped
4) Status of women in India
5) Class system
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